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Math 5467

Lecture 206: Momentum Descent

Instructor: Jeft Calder
Email: jcalder@umn.edu
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Announcements

e Project 3 due May 9.
e Final exam Thurs/Fri (will be availble online Wed evening)

— Exam will have 2 questions. Will be easier than typical homework ques-
tions.

— You must work on the exam by yourself.
— You can use the class notes and homework.

— You cannot look up solutions online, or post the questions on Math.StackExchang
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Last time

e Gradient descent

Today

e Momentum descnet



Gradient Descent

Gradient descent is one of the most important algorithms in many areas of science

and engineering. To minimize an objective function f : R” — R, gradient descent
iterates

(1) LThk+1 = Tk — onf(xk)

until convergence. The parameter o > 0 is the time step (often called the learning
rate when using gradient descent to train machine learning algorithms).



Assumptions on f

We assume the objective function f : R” — R is a smooth function that admits a
global minimizer z, € R™. That is

fz) < flz)

for all x € R™. We denote the optimal value of f by f. := f(x.).



Sublinear convergence rate
We say V f is L-Lipschitz continuous if

(2) IVf(x) =Vl < Lijz —yl| forall 2,y € R™.

Theorem 1. Assume Vf is L-Lipschitz and that o < % Then for any integer

t > 1 we have

3) wmin [V f(ay)|? < 2@ = 1),

0<k<t at

Remark 2. The theorem says, with very few assumptions on f, that gradient
descent converges at a rate of O (%) to a critical point of f, in the sense that
Vf ~ % — 0. Since f is not assumed to be convex, critical points need not be
minimizers and could be also include saddle points.



Linear convergence

To obtain a better convergence rate, we need to make an additional assumption
about how flat f can be at minima. We say that f is u-strongly convex if

(4) ) = f(@) + Vi@ (y = 2) + Slla -y

for all x,y € R™.

Note: If we take x = x, then Vf(z,) = 0 and we get

(5) ) = fu+ Slly = ol



Polyak-Lojasiewicz (PL) inequality

If f is p-strongly convex, then f satisfies the PL inequality
1

(6) SIVF@)I* = n(f(z) - £.)

for all x € R™.

Remark 3. The PL inequality is weaker than strong convexity, and even nonconvex
functions can satisfy it (as an exercise, show that f(z) = x2 + 3sin?(x) satisfies the

PL inequality (6) with p = 35, but f is not convex).



Linear convergence

Theorem 4. Assume f satisfies the PL inequality (6), V f is L-Lipschitz, and take
a < % Then for any integer t > 0 we have

(7) f@e) = fo < (1 —ap)'(f(zo) — f7).

Remark 5. The best rate is obtained by taking a = % in which case we obtain

fa)—fo< (1= 1) (fao) - 1),

The ratio k = £ is called the condition number of f (or rather of V2 f), and controls

the rate of convergence of gradient descent.



Convergence of minimizers

Remark 6. It is also natural to ask how quickly zj is converging to x,. For this,
we require strong convexity. If f is p-strongly convex then we have

gHZEt - x*HQ < f(ﬂi't) - f* < (1 - a,u)t(f(a:o) o f*)

-












Issues with gradient descent ’P ()

(a) « @12 steps (b) a = 0.01, 50 steps

Figure 1: Gradient descent on a parabolic function with different choices of time
steps. For larger time steps the iterations bounce back and forth, limiting progress
towards the minimizer, while for smaller time steps the descent path is more direct.



Momentum descent

One of the oldest momentum based methods is the heavy ball method of Polyak.
The heavy ball method iterates /5 . Mo entumna

—

(8) Try1 = Tk — oV f(zp)|+ 8ok — 28-1),

where « is the time step and § € [0, 1] is the momentum parameter, where x; = xg.

e The idea is that the descent direction has memory, or momentum. This aver-
ages out the bouncing effect in gradient descent, and accelerates convergence
when the descent directions align over many iterations (near the minimizer).

e As we will see, the descent equations share similarities with the equations of
motion for a ball rolling down the energy landscape, so it is also called the

heavy ball method.
< *P(x
\3



Heavy ball method

(a) a =0.05,8 = 0.1, 12 steps (b) a =0.01,3 = 0.25, 50 steps

Figure 2: Heavy ball method for different choices of time step and momentum
parameter. Momentum acts to average out the descent direction in time, limiting the
bouncing effect for larger time steps. Momentum builds up speed and makes more
progress towards the minimizer in the same number of steps as gradient descent.



Recall: Gradient descent

(a) a = 0.05, 12 steps (b) a = 0.01, 50 steps

Figure 3: Gradient descent on a parabolic function with different choices of time
steps. For larger time steps the iterations bounce back and forth, limiting progress
towards the minimizer, while for smaller time steps the descent path is more direct.



Continuum perspective: Gradient Descent

For gradient descent (1), we can rewrite the equation as —_
. () a Xpp= A — XM
T
X @{)/\” SR TR — W f(a).

By assuming = = z(at) for a smooth curve z(t), we find that the left hand side
is merely a forward differences approximation for x'(t), and so gradient descent is
equivalent in the continuum to the ordinary differential equation (ODE)

'(t) = =V [f(x(t)).



Continuum perspective: Heavy ball method

On the other hand, when we rearrange the heavy ball method iteration (8) in a
similar way, we obtain

O | Teit 220 ot L2 ) =~V A,

\X/W e o
>(.L+‘ = X — %Q‘p(xk) —y~lﬁ<)(k_x,(,(>

Xievi — X *ﬁ(Yk-. —Xp) = — X VFar)

Ko — K + Xy =Xk



WK-' 1 [/‘F>()((¢‘)(K—l)=‘(7‘ﬁ{/\j‘)
A oL



Discrete approximations of derivatives

Exercise 7. Show that S C /

and 2(t+ h) — 22(t) + 2t — h)

h2

for a smooth curve x(t). To do this, use the Taylor expansions

= 2" (t) + O(h?)

z(t+h) =a(t) 2" (t)h + %2x”(t) + %x”’(t) + O(h%).



Continuum perspective: Heavy ball method
l

X
Recalling the heavy ball method can be written as / _
A\ N - )(K = X (\[( K)
X D g1 -2z ap,  1-f (xk — Tp—1

@ + \/a @ ) = —Vf(a:k)

we can use Exercise 7 to see that thi iscretization of the ODE

ma = ]"’

(10)

e These are the equations o on’s law) for the motion of an object
1-8

under the force —V f(x(t)) with damping/friction coefficient VR

e This suggests choosing 5 so that

that is § =1 — ¢y/av.



Analysis of heavy ball method

The analysis of the heavy ball method is more involved, compared to gradient de-
scent. We will analyze the method in the special case of solving the linear system

(11) Ax =D,

where A is an n X n positive definite and symmetric matrix (e.g., a discrete Lapla-
cian). We can solve this equation by minimizing

Note that Vf(x) = Az — 0.



,p(x) = LIxT A xTh,

. ] O (xe)
Theorem 8. Suppose xp satisfies
/JL’\

Gradient descent

(12) Tpr1 = Tk — oAz — b)
for all k> 1, and assume a < % Then we have

s =l g

(13) (1-alL)* < <

The proof is left as an exercise (or look in class notes).



Heavy ball method

Theorem 9. Suppose xj satisfies

(14) Tpt1 = Tk — a(Axg — b) + B(xg — Ti—1)
for all k> 2 and x1 = x¢. Let a < % and assume

(15) (1-yap)'<B<1.

Then for all k > 2 we have

(16) |z = 2ol + zpar — 2al* < 28%]|zo — 2%

Remark 10. Theorem 9 suggests that the optimal choice for 8 is 8 = (1 — ,/amu)?.
If we also take-a= ¢ andywrite x = £ then

Heavy ball: ||z — z.|| < V2(1 — V&)¥||zo — x|,

Pl——————y
compared to

Gradient Descent: |lzg — z.|| < (1 — &)"|lzo — .||
—————



Fr\ retrov = /-f/ —

Nesterov Acceleration (=

For convex functions that may not be strongly convex, Nesterov’s accelerated gra-
dient method can accelerate convergence. Nesterov’s method 1terates

B

i+1 — Th)- VO(/\\SV\'Vb

v Oho A
ep IS a momentum correc-

Tre1 = Yu — AV f(Yr)s Yry1 = Tp

e The first step is gradient descent and the secon
tion, but the friction decreases to zero over time.

e Nesterov proved the method converges at an O ( t2) rate for convex functions,
which is a substantial improvement over the O ( t) rate for gradient descent.

e It turns out the O ( ) rate is provably optimal for minimizing convex functions
with first order methods.



Proof of Theorem 9
() Xier = X = (AXA’ L) "‘}7()&' Kie—1)

L\Q"" \/4) \/’L) ) \/\l\ LQ O‘f\/‘kl/\C)v\wa( 673%”\ \/‘QC—'LPf'j’ CY'('

\A) DL ML M € - ¢ ). be Q,X,e\/lva/(,u.,s
/: \ ) L=\
//\M@L Aot f(“?o(w“%m[ (F) bV,

(T vi= vl ot ()T~ ) + pC3Tv =l ;)



Lot Ce = X,‘T\/d ) 47; = D(LT‘/[

C\ur( = C _ T [
e — o ( Xe (/\42—4 (q) +)7(Q«"Ck—()
=NV

= Ce— w (NG - ) ()

= (1+#B-etdi) - Fley + b

[: C\cul B (T—"ﬁ'o(A;
CK g ) [ka‘) [







Na{i €(\S@V\\fa/u.¢l uL f:

@: (T—!—,?—D(AL —

C(Amw(/,’{r\f‘ht ?o'7v\omra(
p(h) = det (1 I- B)

:Je-FC\'l-/?—l-o((\; g
- ) /\}

= (A= 1-p+th)) + F







Ig:z + QF( l"“(\i} + /(/of)rg)gf‘fljib
,351 + Rﬁ<(—p<(\@ —,2) + ((—(x/\;)&So

—
Loty ace =~ ( H—xAL)Q
F %

l

— |
?,{(;L((Jrou\;\ u wa(\;)z—m)

< 4+ oA T ﬁ-\*&a& YA
*/*’9'%(\1—%




N

[+ LA F \Sr‘*{ods;
g2 |+ wh — I
- (-sm)
W B2 (lAW>Q )ﬂ\&u\
Mo  distrimmdA= s Lo gk

€\\§QN\"\°“U} )\ AS— Q?MP(&K"V\ﬂ,/LNLJ\

Iu\ ’h/\(}' Ca)€_






This mplies 3 xll < ﬁ//x/l

(o) -e (el £

(/{36 cbenglQ SZ“L‘Q\
) Z@ (- 8)' - g (x- 5"

o (- [ 5] = @-T)

































